THE GAUHATI HIGH COURT AT GUWAHATI

(The High Court of Assam, Nagaland, Mizoram and Arunachal Pradesh)
Main Written Examination for direct recruitment in Grade-lll of
Arunachal Pradesh Judicial Service, 2019

PAPER-H
GENERAL KNOWLEDGE
Date: 03.10.2019 {Thursday) Time: 1 PM to 4 PM
Total: 100 Marks Duration: 3 Hours
I. Give the correct answer from the choices given below. 20X2=490

1. Which is the smailest North East state in India?
(a) Manipur (b} Nagaland
() Sikkim (d) Tripura

2. “The Hornbili Festival” is a celebration held every year from 1 - 10 December in which state

of India?
{a) Siklkim (b) Manipur
(c] Nagaland {d) Mizoram

3. In which of the following states, thebiggest river island in the worldis situated?
(a) Uttar Pradesh {b) West Bengal
[c) Assam (d} Maharashtra

4.  Which Indian state is popularly known as "Ged's Own Country"?

(a) Gujarat (b} Kerala
{c} Madhya Pradesh {d) Assam
5. is popularly known as the 'Land of the Highlanders' and is one of the states of the North
East India.
(a) Mizoram {(b) Manipur
{c) Arunachal Pradesh {d) WNagaland

6. Birdie and Eagle are two terms related to which of the following sports?.
{a} Polo (b} Golf
{c) Chess {d) Billiards

7. Who among the following is first Indian to win an individual gold medal at any Olympic

Games?
{a)  AbhinavBindra (b) P.V.Sindhu
()  RajyavardhanSingh Rathore (d} Mary Com

8. Which of the following games were previously called ‘British Empire Games’?
(a) East Asian Games (b} Southeast Asian Games
(c)  Olympic Games {d) Commonwealth Games

Q9. Which is the Arunachal Pradesh state Tree?

fa} Mango (b} Hollong
(c)} Peepal [d} None of these
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10.

11.

12,

13.

14.

15.

16.

17.

18.

19.

On which date and year Arunachal Pradesh became 24 State of the Indian Union?
{a} 20 January, 1988 (b) 20 October, 1987
(¢} 20 February, 1987 (d) 26 [anuary, 1986

Which one country does not share its border with Arunachal Pradesh?
{a) China (b} Myanmar
{c)} Bhutan {d) Nepal

Which film has been nominated for Oscar 2019 as India’s official entry?
{a) Gully Boy {b} Raazi
(¢) Padmavat {d) Village Rockstars

What is the name of Chandrayaan 2 lander from which Indian Space Research Organisation

(ISRO) lost it's contact when it was 2.1Km away from the surface of the moon?

(a) Vikram Lander (b} Phoenix Lander
{c} Viking 2 Lander {d} Mars Polar Lander
became the first Indian to win World Championships gold in badminton.
{a) PV Sindhu () PullelaGopichand
(¢} SainaNehwal {d) SrikanthKidambi
The study of day-te-day variations in weather is called -

(a) Climatology (b} Meteorology
{c)} Cyclogensis {d)} Seisomology

The natural process of the earth atmosphere heating through the traping of re-radiated infra-

red radiation is known as -

(a) Global warming (M) Green house effect
{c) Solar heating (d) Thermalinversion

Which of the following pairs is incorrect?

(a} Plague - Rats {b) Rabies- Dogs
{c) Tapeworm - Pig (d) Poliomyelitis - Monkeys

What is the normal playing time of the full version of our National Anthem?

{a) 1 minuie (b} 1 minute 30 seconds
{c) 52 seconds {d} 50 seconds

The inscription of India’s National Emblem, “SatyaMevalayte” is a quotation from

(a) Gandhijis writings (h) HNehru's Speeches
{c) Mundak Upanishad {d} None ofthese.
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20.

(<)

Z1.

22,

23.

24,

Z25.

i1i.

26.

1.

27.

28.

29.

The first IPS Women Officer was

(a) KiranBedi (b} Anna Chandi

Leila Seth (d} P.K Thresia
Find the Odd One Out from the given alternatives? 2X5=10
(a) JeevanRalishaPadak () ParamVir Chakra
(¢} Padma Bhusan {d) BharatRatna
fa) Google (b) Firefox
{c) Internet Explorer (d} Chrome
{a) M H Ansari {b} Abdul Kalam
{c} Pranab Mukherjee (d) Dr.Rajendra Prasad
{a) Dollar (b) Peso
(¢ GCunce (&) Euro
(a) Copper {b) Iron
(c}] lodine {d) Tin
Write the fuli forms of the following abbreviations (any five} 2X5=10
{a) MEBS
(b) SIM
(c) UPSC
(d) DTP
(e} CSIR
() BPO
(g) BBC

1

Choose the correct answer:- 25X8=120

Vikram travels 160 Kms at 32 Km per hour and returns at 40 km per hour. The average speed
is-

{8} 33.33 Km per hour (b} 34.67 Km per hour
{€) 36 Km per hour (d) 35.55 Km per hour

The price of a chair is Rs. 500. It has been sold at two successive discounts of 10 % each. What
is its selling price?

(a) Rs.400/- (b} Rs.415/-
{c) Rs.425/- (d) Rs.405/-

A sum of Rs. 25,000/- amounts to Rs. 31,000/- in 4 years at the rate of simple interest What is
the rate of simple interest?

(a) 3% (b) 4%
(c) 5% (d) 6%
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30.

31.

32.

33.

34.

A watch is listed for Rs. 230/- and is sold at a discount of 12%, then the sale price of the watch
is -

(a) Rs.27.60 {b) Rs.276.00
{c) Rs. 202.40 {d} Rs.257.60

The number of pupils of a class is 55. The ratio of the number of male pupils to the number of
Female pupils is 5:6. The number of Female pupils is -

{a) 11 (b) 25
{c) 30 (d) 35

If 60% of the candidates in an examination are male and number of female candidates are
812, how many male candidates are there in the examination?

(a) 1128 (b) 1218
{©) 1821 (d) 1281

Suresh, the son of Mahesh is married to Sia, whose sister Jia is married to Amar, the brother of
Suresh. How is jia related to Mahesh?

(a) Daughterinlaw (b) Cousin
{c} Sisterinlaw (d} Sister

If CENTURION is coded as 325791465, and RANK as 18510, what will the figure 78510
represent?

(a) TANK (b) BANK
{¢) TAKE () SANK
V. Write on any one of the following topics :- 1X20=20

35.

{a)North-East Frontier Agency.
{b) Impact of technology on jobs.
{c) Article 370 of the Constitution of India.
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